






1.0 

 
 
 
 
 
 

 
 
 
 

0.5 

 
 
 
 
 
 
 
 
 

 
 

0.0 
 
 
 

 
 
 
 
 

 
 
 

 
 

-0.5 
 
 

 
 
 
 
 
 
 
 
 

 

-1.0 

O
ut

pu
t~

 =
 0

.8
7 

* 
ta

rg
et

+0
.0

13
 

(c) 

-1.0          -0.5           0.0           0.5            1.0 

O
ut

pu
t~

 =
 0

.9
3 

* 
ta

rg
et

+0
.0

04
1 Data 

Fit 
Y = T 

(a) 
1.0 

 
 
 
 
 
 
 
 
 
 
 

 
 

 

0.5 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

0.0 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

-0.5 

 
 
 

 
 
 
 
 
 
 
 
 
 
 

-1.0 
-1.0             -0.5               0.0              0.5               1.0 

Target 

1.0 
 
 
 
 
 

 
 
 
 

0.5 

 
 
 
 
 
 
 
 
 
 
 

0.0 

 
 
 
 
 
 
 
 
 
 
 
 
 

-0.5 

 
 
 
 
 
 
 
 
 
 
 
 

-1.0 
-1.0          -0.5           0.0            0.5            1.0 

O
ut

pu
t~

 =
 0

.9
1 

* 
ta

rg
et

+0
.0

41
 

(d) 

(b) 

O
ut

pu
t~

 =
 0

.8
9 

* 
ta

rg
et

+0
.0

86
 

1.0 

 
 
 
 
 
 
 
 

0.5 

 
 
 
 
 
 
 
 
 
 
 
 
 

0.0 

 
 
 
 
 
 
 
 

-0.5 

 
 
 
 
 
 
 

 

-1.0 
 -1.0             -0.5               0.0              0.5               1.0 



Displacement of top platform of Stewart platform 
under simulation 

Displacement of base platform under simulation 
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